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Directions: Choose the awren easww lrom the
lettered choices. Use svalishle epech which ynu
have on the page for yout scratchwork.

In two houn, the minute hand f a clock
rotates through sn angle of

(A) 60°
(B) 90°
(C) 180°
(D) 360°
@ 720

4.

In the fgute, AB — RC and angles BAD and
BCD are right angles. Which one of ths (-l
lowing conclusions may he drawn?

Al

{A) angle BCA=angle CAD
(B) angle B is greater than angle D

c q (C) AC=CD
(D) AD=CD
Cc D i BC is shorter than CD.
r
A a

The disgram shows a cube. Each comer has been
idenubed by a letter. Corner F is riol shown, but
its location is the one corner not shown in the
diagram. The cube has a 17 side.

I the cube 15 successively rotated 180° on
axes going through the center of faces ABCD
snd LI GH, faces AECG and BFDH, and
faces C DGH and ABEF, where will the face
conta'ning point X be?

5.

Suppose in the place of a number system a2 sym-
bol system were instituted which had digits
C,»~,2,#,>.52,%x and 2 comezpond-
ing respectively to the digits O, 1, 2, 3, 4, S, 6,
7. 8 and 9. The digit 7 is used in the same fash.on
as the 0 in the decimnal system, eg, ATl =10

-

/ A. Which s equal to 107

\OQ
@

(C) "I
(%) where face BDHF was at the stant of the (D) - <
operation (F) x7A
(B) Where face AECG was at the start of the
operation
(C) Where face EFGH was at the start of the ¥ 2R What is the sum of > Thade+» 5 2
operation
Where face ABEF was at the stant of the tA) 4
operation i
(E) Whete ‘ace ABCD was at the stast of the (had &
uperat.on ((:?)) J

CMNLIX 1 Roman numerals 18 the eguiv-
alent of

6.

The least common muluple of 20, 24, 32 1s

A 449 (A) 900
(R G129 (B) 1920
(C) 969
tD) 1149

@ 1109

C}) 15,360
240
2) none of these



" 7. When the fractions %. %4, %1 and %, are
arranged in ascending order of size, the result

is

(A) %ln %- 713 %
(B) %, %1 %, %s
(C) 25, %1, %4, Us
(D) 2, %3, %, %
(E) ./130 %- "élr %

8. Left to right directional movement in reading
is natural to children
) must be taught
(C) 1is common to all cultures
(D) has no connection with the reading
process
(E) occurs only in the Far East

/9 All the following have written plays in verse
except
(A) T. S. Eliot
(B) Christopher Fry
John Millinglon Synge
(D) William Butler Yeats
(E) William Shakespeare

1O« Which of the following African nations is not
correctly matched with its pre-independence
name?

(A) Sudan—Anglo-Egyptian Sudan

(B) Gabon Republic—Gabon

(C)y Ghana—Ivory Coast

@ Central African Republic—Ubangi-
Shari

(E) Republic of Congo—Middle Congo

1  Which of the following can be cited as con-
tributing causcs of the French Revolution?

I. The peasants in France were distinctly
worse off than those of other continental

countries.
— 1l. France was the center of the Enlighten-
ment.
1il. The French royal famliy was incompe-
tent

IV. Stringent and efiecctive enforcement of
censorship stirrcd popular discontent.
= V. The French state was becoming bank-
fupt.
@A) 1, 11, Vony (D) IV, V only
(B) 1,11, 1V, Vonly (EY LI I, 1IV. V
(CHY 1L 11 IV V anly

12+ All of the following statements about intel-

ligence tests are true excepr.

(A) Scores made by individual children may
vary to a considerable degree over a
period of time.

(B) There is a high correlation between 1.Q.
and academic aptitude.

}© Current thinking holds that there are
various kinds of intelligence in addition
to the kind measured by paper and

.~ pencil group tests.

((D) *Culture-fair” 1.Q. tests tend to favor

the middle and upper socio-economic

groups of our population.

y 13+ Which one of the following statements about

free reading is not correct?
(A) It tends to stimulate the development
~ of a desirable outlook on life.
dB)) It should not be allowed on school time.
(C) It leads to the understanding that read-
ing is necessary and pleasurable.
(D) It helps to broaden horizons.

,/14 The study of man's relation to his environ-

ment has taken the name ___ ___ from
biology.
(A) etiology (C) endology

(L.) environmentology (D) ecology
(E) pathology



PR L

WHITE AND NON-WHITE ILLITERACY RATES FOR SIX REGIONS (HYPOTHETICAL)

1
B

Here are four assertions:

I. There are no illiterate whites.
II. There are no idliterate non-whites.
III. Whites have a higher illiteracy rate than
non-whites.
IV. Non-whites have a higher illitcracy rate
than whites.

On the basis of the graph above ulone, answer the
following questions for the populations of the six
areas combined.

XA_ Which of the following may be true?

(A) cither 1 or 11 (C) I, but not 11
(B) neither I nor 11 (P)‘ 11, but not |

cannot be determmimed

8- Which of the following may be true?
((A) either HI or 1V
(B) neither 11l nor 1V
(C) III, but not 1V
(D) 1V, but not Il ;
" cannot be determined

Ve Which of the following must be true?
(A) only I (C) only 1V
(B) only 111 (D) I and IV
none

Area



11

18.

n which onc of the fallowing arc the items
regarding the United Nations  incorrectly
paired®

(A) Uniing for Peace Resotution—Raght of
the Gencral Ascembly to act because of
a Secunity Counarll veto

{BY UNESCO--Rehubihitat:on of horea fol-
lowing the Korean War

(C) Procedural Marters— Vote of any seven
members of the Sccurity Counci

(D) Trusteeship Council — Supervision of
dcagnated territonies  whose  peoples
have nv artained self-government

(EV Internauonal Development Associstion
—Assist backward countries in thers
economic growth

In order to understund the functions of the chro-
mosomes we must know the conditions within the
nucleus. for the smmcdiste cnvironment of the
chromowomes 1s the cell nuclcus The cvtoplasm of
cach type of cell s equipped te carry out come spe-
cific functiony muscle Coli cvtoplasm contains the
protein myosin. red blokd ¢vtoplasm has the hemo-
globin. pancreas-cyvtoplasm has the Jigestive enzyme
typsin. erc In cach type of cell the chromosomes
are acting on g dilferennated ovtoplasm The parts
nust b oanteerated of such g ssstem s 1o work
effectively There v need tor g feedhack frem the
Atopiea o chromosome: e that the activaty 1y
adpste g e the Cvlop aism s spedia teguirenent

Protoplasm s the matenal of which all Living sub
stances are formed. wually geliv-hibe or Nud subdb.
stance of gravnh tanslucent appearance

What are the missing words in the Tollowing

sentence? “Every ccll hay o —_and

P 0

(A) chloroplast, microsome

(B) cytoplasm, protoplasm

(C) nucleus, protoplasm

(D) protoplasm cell wall
cytoplasm, nucleus

In the reaction
Ap + JHNO, -, ARNO. - 2H @ + 2NO
s0Mc of the nitrogen gtoms ) P
{A) gamn? clectrons
(B} Jone 2 electrons
LC) duse ) clectiron,
tD) gany clectran,
g4 { eleviron

19. Gross National Product n defined s
(A) total goods produced
(B) total gaods and services produced
(C) total goods and services produced, less
taxes
(D) Net Nationa! Product plus dividends
@ Net Nationa) Product plus investments

e0. | Every dog has ficas
Il. Some dog has fleas.
111. Some dog daes not have fleas.

IV No dog has fleas. _
Regarding statements 1. 11, 111, and 1V, which

of the following claims 1s correct?

115 inconsistent with 11 111V ‘
(B) Il is consistent with (11 but not with 1V

— and | _
((C) 11 13 conmstent with 1V but not with

1 and 11
(D) 1V 13 conuistent with [I but not with 1]

and 1l
(E) none of these

First Philosophy. according to Arsitotle, 13

the study f

(A) Bang

(B) God

(C) Knowledge
(D) Ethics

(k) Mathemaixs

21,

22 . Which of the [ollowing scts desenbeys a day”?

I There i one J60O " rotation
I A penexd of 23 hours, S6 minutes,
4 09 scconds mabces up a mean <olar
d.!)'
It A sdereal Jay cantaine 23 hours
IN' The stars are more accurale time
refcrences than the sun,

(A) 1 only
(Bl L1V only
(C) I, IV only

(O 1V ony

(&) 1LIL Ly

\/23 « In the long run
(A) fixed costs will be greater than vanable
costs
(B) vanable costs will be greater than fixed
cosls
@ all costs are vanable costs
(D) all costs are fixed costs
(E) both A and B are correct

-]
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Graph A is a(n)

(A) histogram
@ frequency polygon
(C) pictograph

D) normal distribution
(E) ogive curve

Graph B is a(n)
histogram

(B) frequency polygon

(C) lorenz curve

(D) normal distribution

(E) ogive curve

(A) $50
(B) $60
© $75
(D) $100
(E) $25

\/The mode in graph A is

| { { {
$50 873 sS100 3123
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